4 10 11 12

104.3| 112.7 84.7 83.6 84.3 91.9 92.2 91.2 98.9 83.1 92.8 91.8
100 1 6 0 0 0 0 0 0 0 0 0 0 7
276 272 244 155 232 174 142 253 146 53 139 202 2,288

9.2 8.8 8.1 5.0 7.5 5.8 4.6 8.4 4.7 1.7 5.0 6.5

60.7 69.4 51.8 52.3 52.1 52.9 58.7 55.5 63.5 47.9 53.0 55.7

96.6 103.5 85.0 83.2 85.4 89.7| 101.6 93.7 83.1 81.1 92.2 98.1
100 0 3 0 0 0 0 2 0 0 0 0 0 5
384 332 332 222 256 279 286 348 247 144 220 302 3,352

12.8 10.7 11.1 7.2 8.3 9.3 9.2 11.6 8.0 4.6 7.9 9.7

58.2 62.8 52.8 53.6 51.4 53.3 64.9 55.8 52.1 49.6 52.5 59.7

101.4 91.9 90.6 86.5 84.5 92.4| 101.7 99.2 85.5 86.7 83.8 98.5
100 1 0 0 0 0 0 4 0 0 0 0 0 5
233 213 198 128 99 189 261 216 213 167 160 221 2,298

7.8 6.9 6.6 4.1 3.2 6.3 8.4 7.2 6.9 5.4 5.7 7.1

63.6 53.4 53.4 48.9 47.9 54.4 64.5 61.8 49.8 49.5 51.7 61.9

92.9 87.0 81.1 88.9 4.7 72.6 97.1 82.4 83.6 74.8 79.4 88.1
100 0 0 0 0 0 0 0 0 0 0 0 0 0
39 38 31 36 7 9 55 30 40 14 21 30" 350

1.3 1.2 1.0 1.2 0.2 0.3 1.8 1.0 1.3 0.5 0.8 1.0

52.2 50.4 51.3 49.0 44.3 36.9 56.1 48.7 47.6 44.3 41.0 47.7




2 )
500 500
450 450
400 400
350 350
300 300
250 250
200 200
150 150
100 100
50 50
0 0
500 500
450 450
400 400
350 350
300 300
250 250
200 200
150 150
100 100
50 50 .. m B = m m
0 0
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